
Equalities (G)Find the value of each unknown.
4 + ⊞ = 3 + 12 1 + ⍟ = 4 + 8
12 + 1 = 10 + ⌓ 12 + ∇ = 8 + 9
12 + 9 = ◊ + 12 9 + 12 = ♡ + 12
1 + 10 = 5 + ▭ 8 + 10 = ∆ + 12
5 + ⌓ = 3 + 7 2 + ⊙ = 3 + 8
⌂ + 1 = 1 + 10 10 + 12 = ⊞ + 12
5 + ⌓ = 2 + 6 4 + 11 = ⍟ + 4
8 + ∇ = 8 + 10 11 + ∇ = 10 + 12
3 + 6 = ⟣ + 5 ⧉ + 2 = 8 + 6
♡ + 3 = 7 + 1 7 + 10 = ⧖ + 7
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Equalities (G) AnswersFind the value of each unknown.
4 + ⊞ = 3 + 12 1 + ⍟ = 4 + 8⊞ = 11 ⍟ = 1112 + 1 = 10 + ⌓ 12 + ∇ = 8 + 9⌓ = 3 ∇ = 512 + 9 = ◊ + 12 9 + 12 = ♡ + 12◊ = 9 ♡ = 91 + 10 = 5 + ▭ 8 + 10 = ∆ + 12▭ = 6 ∆ = 65 + ⌓ = 3 + 7 2 + ⊙ = 3 + 8⌓ = 5 ⊙ = 9⌂ + 1 = 1 + 10 10 + 12 = ⊞ + 12⌂ = 10 ⊞ = 105 + ⌓ = 2 + 6 4 + 11 = ⍟ + 4⌓ = 3 ⍟ = 118 + ∇ = 8 + 10 11 + ∇ = 10 + 12∇ = 10 ∇ = 113 + 6 = ⟣ + 5 ⧉ + 2 = 8 + 6⟣ = 4 ⧉ = 12♡ + 3 = 7 + 1 7 + 10 = ⧖ + 7♡ = 5 ⧖ = 10Math-Drills.Com


